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Instructions:

1. Attempt all questions.

Make suitable assumptions wherever necessary.

2.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.
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Explain procedure to measure horizontal angle by repetition method
by theodolite.
For the following closed traverse calculate latitude and departure of

the sides of traverse.

Line Length Bearing
AB 25.0m 86° 42
BC 123 m 178° 06
CD 25.6 m 270° 00
DA 10.8 m 2°00

Derive the equation for the tangential method of tacheometry when
both angles are angle of depression.

The following readings were taken by a tacheometer. The staff was
held vertical. The tacheometry constants were 100 and 0.The R.L.of

B.M. was 53.50 m. Find distance AB and R.L. of station B.

By tangential method of tacheometry following readings were taken.

Find out R.L. of Y and distance XY.

Instrument | Staff Station | Vertical Staff Readings
Station angle
A B.M. -5° 1.090, 1.430, 1.770
B +7° 0.650, 0.865, 1.080
OR

Instrument Staff | Vertical | Staff Remarks
Station Station | angle Reading
X Y +4° 1.70 R.L.of instrument
Y +7° 3.20 axis of X =36.40 m

Derive formula in trigonometrical leveling when base of object is
inaccessible, instrument stations and object are in the same vertical
plane and instrument axes are at different level.

In trigonometrical leveling, following observations were taken. Find
out R.L.of top tower. A, B and tower are in same vertical plane.
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Distance AB=60m. R.L.of B.M.=105.0m

Instrument Station | Reading on B.M. Vertical angle
A 1.360 12°30
B 2.450 15°30

OR

Explain with figure any one method of setting out of simple circular
curve.

Define the tacheometric constants and explain the field method to
find out those constants.

Explain advantages and disadvantages of total station.
Define tacheometry, state the use of tacheometry and explain
principle of tacheometry.

OR
Enlist various keys on display board of total station and their basic
functions.
Draw the right hand circular curve and label the following
components on it:
(i)Mid ordinate (ii)Point of curve
(ii1) Deflection angle (iv)Long Chord
(v)Apex distance (vi)Point of intersection
(vii)Forward tangent

Explain initial setting up of total station.

Explain transition curve and enlist the types of transition curve.
OR

The intersection angle of two roads in 140°. If they are provided

with a curve of radius 300 m, find the following

(i)Length of long chord (ii)Mid ordinate

(ii1)Tangent distance (iv) Apex distance.

When the point of curve is inaccessible, Explain the procedure with

figure for setting out circular curve.

kxkRk Rk RERER

07

07

07
07

07

07

07
07

07

07

2/4



Ua—9

UsA—2

Yae—3

2

]

]

@282 ad vjel Hiudlell Yotiddetoll Id of clet 5A
o{lAotl Gitl HIARWEL M2 cllgllell s A Aetial wal
yellel ofl oLl 521

Line Length Bearing
AB 25.0m 86° 42
BC 123 m 178° 06
CD 25.6 m 270° 00
DA 10.8 m 2°00
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